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COMPOUND INTEREST : INSTALLMENT
(PRACTICE SHEET)

A sum of Rs. 2100 is to be paid back in 2
equal annual installments. How much is
each installment if the interest is
compounded annually at 10% per annum ?

2100 # dh jkf*k 2 okf'kd cjkcj fdLrk e wnk
djun gh iR;d fdlr Dzk gixi :fn C:kE okfkd
I;kftr gkrk g rRk C;k€ dh nj 10» ifro'k gh
(a) Rs. 1210 (b) Rs. 1240
(c) Rs. 1230 (d) Rs. 1220
A sum of Rs. 4,620 is to be paid back in 2
equal annual installments. How much is
each installment (in Rs.) if the interest is
compounded annually at 10% per annum?
#- 41620 dh jkf*k 2 cjkcj okf'kd fd*rk e okil
Hxrku dh tkrh gb ;fn C;kE nj okf'kd nj
pdofYs gku okyh 10» okf'kd g rk ik;d fd r
(# e) fdruh gixi\

(b) 2,420

(d) 2,750

(a) 2,662
(c) 2,552
A man borrowed some money and
returned it in two equal installments of

Rs.3,025 each. If the rate of interest is
10% per annum, compound annually,

find the sum borrowed.

,d 0;fDr u AN 11 mekj fy, azkj ml 3]025
#i; dh nk leku fd'rk e okil dj fn;k ;fn
C;k€ dh nj 10» ifr 0% g] ok'd pdofys] rk
mekkj yh xb jkf*k Kkr dift,4

SSC CHSL 02/06/2022 (Shift- 2)

(a) Rs.5,575 (b) Rs.6,250
(c) Rs.6,525 (d) Rs.5,250
loan is to be repaid in two equal yearly
instalments. If the rate of interest is 10%

per annum, compounded annually, and
each installment is Rs. 6,897, then find

the total interest charged.

,d Y.k dk nk Teku okf'kd fdLrk e pdk;k thkuk
gh ;fn C;k€ dh nj 10» okf'kd g] tk okf'kd -1
I pQof¥ gkrh g vkj 1R;d fdLr # 6]897 dh
g] rk fy;k thu okyk dy C;kt Kkr dift,A

SSC CHSL 27/05/2022 (Shift- 1)
(a) Rs. 1,644 (b) Rs. 1,824
(c) Rs. 1,914 (d) Rs. 1,734
A loan is to be returned in two equal
yearly installments. If the rate of interest
is 10% p.a., compounded annually and
each installment is Rs 6534, then the total
interest charged (in Rs) is:

fdlh T.k dk nk leku okf'kd_fd®rk.e okil djuk
gt ;fn C;kt nj ifr o'k 10» g] fthdh x.kuk okfkd
p@ot¥a vk/kj 1j gkrh g] Vi 1R;d fd'r 6534
#1509 yxkk x;k dy C;ke (- e) Kir djh

(a) 1728 (b) 1867

(c) 1642 (d) 1579

A man borrowed money and paid back in
two equal annual installments of Rs
1,089, at 10% compound interest
compounded annually for 2 years. What
was the sum (in Rs) borrowed?

dib vinet] 10» okfkd p@of¥s C;kt dh nj ij
2 0% d fy, ilk m/kj yrk g vkj zi; 1089
dh nk cjkcj okfkd fd*rk e okil Hxrku djrk
gh ;fn C;kt dh x.kuk okf'kd -1 e gkrh g rk m/
kj yn xb jkf'k (zi; e) Kir djh

(a) 1890 (b) 2178

(c) 1800 (d) 2090

A sum of money was borrowed and paid back
in two equal annual installments of Rs. 980,
allowing 4% compound interest. The sum (in
Rs, to the nearest tens) borrowed was:

.d ik m/kj yh kb wkj Rs.980 di nk leku
okf'kd fd'rk e okil Hdkrku dh Xb] fele 4»
pdofys 3kt fy;k Xk mZk yh Xb (Rs. €]
fudVre ngkb e) fdruh Fi\

SSC CGL 11.04.2022 (3™ Shift)

(b) 1960
(d) 2050

(a) 1850
(c) 1760
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10.

11.

A sum of Rs. x was borrowed and paid back
in two equal yearly installments, each of
Rs. 35,280. If the rate of interest was 5%,
compounded annually, then the value of x is:

#x di ,d jk n/k yh xb vij bldk Hxriu
nk cjkcj okf'kd fdLrk e fd;k x;k fele iR;d
fdLr #- 35]280 dh Fk ;fn okf'kd p@of¥ (;kt
dh nj 5» g] rk x dk eku Kkr djh

(a) 64,400 (b) 65,600

(c) 64,800 (d) 65,400

Neeraj took Rs. 6800 as a loan which along
with interest is to be repaid in two equal
annual installments. If the rate of interest

is 12l% compounded annually, then the

value of each installment is :
uhjt u 6800 # m/kj d i e fy, ftudk C;kt
Ifgr] nk leku okf'kd fdLrk e Hxrku fd;k tkuk

g :fn oiftd zi I 1;kftr Gk o nj 12%»
g rk it;d fdLr dh jif% g \
(a) Rs. 8100 (b) Rs. 4150

(c) Rs. 4050 (d) Rs. 4000

Surekha borrowed a sum of money and
returned it in two equal annual
intallments of Rs. 5547 each. If the rate

of interest was 7 % % p-a. compounded yearly,

the the total interest paid by her was:
[k u dN ji'k m/ki yh vkj bl iksdh o'k #
5547 dh nk cjkcj okf'kd fdLrk e ykVk fazkt ;fn

C;kt dh nj okfkd i 1 A kU ij 7%% ifr
o'k Fi] rk mId Hjk fnsk x;k dy €5kt Rk

SSC CGL MAINS 15 Nov. 2020
(a) Rs. 1,144 (b) Rs. 1,134
(c) Rs. 1,096 (d) Rs. 1,126

A loan of Rs. 8,925 is to be paid back in
two equal half-yearly installments. How
much is each instalment if the interest is
compounded half-yearly at 8% per annum?

# 8]925 dk ¥2.k nk leku v/oifkd fdLrk e pdk;k
tuk gh ;fn Gkt v/oktkd zi 1 8» ifr o% dh nj
I 1;iftr fd;k trk g] rk iR;d fdLr fdruh g\

SSC CHSL 24/05/2022 (Shift- 1)

12.

13.

14.

15.

(a) Rs. 4,372 (b) Rs. 4,732

(c) Rs. 4,654 (d) Rs. 4,564
A loan is to be returned in two equal
yearly installments. If the rate of interest
is 10% p.a. compounded annually and
each installment is Rs 5,808, then 60% of
the total interest (nearest to a Rs) charged
in this scheme is:
,d Y.k nk Neku okf'kd fd"rk e okil fd;k tkuk
gh ;fn C;kE nj 10» c¢fr o'k gh lkykuk p@ofYa
vkj ¢f;d fdLr 5]808 #i; g] rk bl ;ktuk e
fy, thu oky dy (;kt€ dk 60» (:-1; e fudVre)
Kir dji

SSC CGL MAINS 29 Jan 2022
(a) 917 (b) 911
(c) 913 (d) 922
A sum of Rs. 45500 is to be paid back in 3
equal annual installments. How much is

each installment if the interest is
compounded annually at 20% per annum ?

-fn 45500 ji'k dk 3 cjicj okfkd fdLr e
vnk djuk ‘gh i d fdlr di jifk Kkr dj ;fn
Okt oiftd I ;ker gk g rfk C;kE nj 20» ifrok g

(a) Rs. 21600 (b) Rs. 21700

(c) Rs. 21800 (d) Rs. 21900

A sum of Rs. 25220 is to be paid back in 3
equal annual installments. How much is
each installment if the interest is
compounded annually at 5% per annum ?

;fn 25220 dh jkf*k 3 cjkcj okf'kd fdlr e wnk
djuh gt 1f;d fdLr dh jkf*k crk, ;fn C;kt okf'kd
I;kftr gkrk g rAk C;kE nj 5» ifro’k g

(a) Rs. 9361

(b) Rs. 9261

(c) Rs. 9621

(d) Rs. 9216

A sum of Rs. 52725 is to be paid back in 3
equal annual installments. How much is
each installment if the interest is
compounded annually at 12% per annum ?

52725 dh jki*k dk 3 cjkcj fdLrk e vnk djuk
gt 1f;d fdLlr fdruh g ;fn C;kE ifr*kr 12» 1fro'k
g Rk C;ke Bkykuk I;kFEr ghrk g

(a) Rs. 21952

(b) Rs. 21592

(c) Rs. 21852

(d) Rs. 21259
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16.

17.

A sum is to be paid back in 3 equal annual
installments. The interest is compounded
annually at 30% per annum. If each installment
be Rs. 21970 then what is the sum ?

fdlh jki*k dk rhu cjkcj fdlrk e wvnk djuk gh
;i Gkt Dhykuk B;kFEr gkrk g rik C;kt dh nj
30» ifro'k gh ;fn 1f;d fdLr 21970 g rk jkf*k
Kir dji

(a) Rs. 39800 (b) Rs. 39900

(c) Rs. 39950 (d) Rs. 39990

A man borrowed a certain sum and agrees
to repay it by paying Rs. 4000 at the end
of first year and Rs. 7700 at the end of
second year. If the rate of compound
interest compounded annually is 10% per
annum, then find the sum (in Rs.)

fdlh 070 u ,d fuf'pr jk'k m/kj yh Vij igy
o'k d vr e 4000 #i; vk nlj ok d vr e
7700 #i; ok Hxriu djd bl pdiu d fy, lger
gk x5k ;fn okfkd -1 1 1;kfer pdofys (;kt
dh nj 10» ¢fr o g] rk jii'k (#i; €) Kir dift,
(a) 11500 (b) 11000

(c) 9000 (d) 10000

18. Atul borrowed a sum of Rs12000 and

19.

agreed to repay it by paying Rs 4800 at the
end of first year and Rs 9240 at the end
of second year. What is the rate of

compound interest compounded annually?
vry #i; 12000 dh jkf*k mZkj yrk g vkj igy
ok d vr e #i; 4800 vkj nlj o'k d vr e
9240 #i; dk Hixrku djd bl pdiu d fy, r;k
gkrk gt okf'kd p@ofvs C;kt dh nj Kkr djh

SSC CGL 24/08/2021 (Shift 02
(a) 10% (b) 12%
(c) 8/5% (d) 8%
A man borrowed Rs. 9000 at the rate of
10% p.a. compound interest. At the end of
every year he return Rs. 3000. At the end

of 3rd year how much money should he
paid so that the whole sum be paid.

,d Vvikneh 9000 # 10» okfkd p@of¥ C;kt nj
1j n/kj fy;i ik;d 0% d vir e og 3000 #
okil dj nrk gt rilj o'k d vir e ml vk fdru
#1; Hxrku djukspkfg, fell fd Li.k jkf*k dk
Hocrku: gk €, 0\
(a) 5049

(c) 5070

(b) 5050
(d) 5060

~

2.(a)

3.(d)

4.(b)

5.(a)

6.(a)

7.(a)

8.(b)

9.(c)

10.(b)

12.(b)

13.(a)

14.(b)

15.(a)

16.(b)

17.(d)

18.(a)

19.(a)
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